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Topic:- Child Development & Pedagogy (CDP)

1) Thematic Apperception Test was designed by ./ fawg-sreraty= uteror (Qﬁﬁ_cﬁ
TRAURE ) §RT T yifdd foear 4T Tl

1. Eysenck and Allport / 3-11%@? I 3Teae

2. Galton and Kretchemer / 3TeceT 3T hadT

3. Jung and Sheldon / ?EI_’?T}ﬁT A3
4. Murray and Morgan / #FX 31X #leTeT

Correct Answer :-

. Murray and Morgan / #X 3T #AlTeT

2) You are a pediatric resident. A 7-year-old Tarun is suspected to suffer from autism. You
referred this boy to see an educational psychologist for assessment. The education psychologist
sends a report to you and you need to explain the findings to his mother. His strength is MOST
likely found in which of the following areas?

/ 31U U dTdfafped® &1 7 I & a0l &1 3fifewd 4 Nifsd g1 &1 319
YT MY 5T AP P Aipad & Y U Afére AdTID o @ &
forg Y1 e FdTe 3Mue) ve RUid Aerar @ 3R 3Mus! 39H 3
qrel frepy I I B AT B U B ATIYHT 8 | SHB! dTehd,
fFrafafad A 9 feg &7 & 817 & gaifie Gy 82

1. Oral presentation skills / Afgs ER-T:IJ?T hierel
2. Verbal concept formation/ e ITUROT IS

3. Block design/ seller f3<iIs

4. Abstract thinking/ 3-]?{\?—‘[ arg

Correct Answer :-



. Block design/ sclieh f3oTS

3) Gender is determined while sex is determined. / freT

¥ ¥ PuiRE g § Tar AT w9 @ PuiRasard)
1. Socially, Culturally / m,ﬂiﬁjﬁlﬁ?

2. Biologically, Socially / ifaes ,grafais

3. Biologically, Environmentally ISIGER ,tmﬁaﬂﬁm

A

4. Culturally, Biologically /HiRpidd ,Sifddb

Correct Answer :-

4) Children often blame themselves for parental conflict. What Piagetian
principle explains this belief? / §T 3FaT AG-fAar & di=r §'l!' SIS &
foT gg A ot #rd ¥ Rarer Rguia 3@ Qe @ Far sarear w3
8?

1. Egocentrism / ¥arey
2. A-not-B error / T-sTgi-aT ?lfc'f
3. Conservation / II&T0T

4. Animism / HalcHAIC

Correct Answer :-

. Egocentrism / Fard

5) A set of rules that helps us to derive meaning is known as: / st 1
qe S X Y AT H A AT 8, e & T F AT AT §:

1. Sentences / dTFd

2. Phonemes / Blai&d
3. Words / lsq

4. Semantics / AIATCH



Correct Answer :-

. Semantics / THTCH

6) Trisha is an eight-year old girl who confidently performs arithmetic tasks
that involve adding or subtracting zero from a number. According to Piaget,
which cognitive ability enables Trisha in understanding the concept?/ X2 T

TS guly asdr §, S ATcATIRET ¥ FFAOHT F1F FIAT § TwH vH
HEAT § T ) SAsar A1 g afae 31 ek & aefar, sia @t
HAEACHS &TAdT e ) 3TUROT FHsTs H HaTH Tt 872

1. Decenter/ ﬁa:qw

2. Conservation/ TI&TOT
3. Logical reasoning/ cTfehehdl (liTotehel IIoTieidr)
4. Reversibility/ faaar

Correct Answer :-

. Logical reasoning/ dTfehepdT (@ilTotehel {Isifeian)

7) By three years, the child is able to speak ./ Al a¥ g, sT@
diee ¥ |aTA {er B

1. Syllables / 31&TX

2. Grammatically complete words / ST 01k &I tI;U‘f As
3. Words / 2Ueq;

4. Functionally complete words / PRITcHS ¥ Tﬁ' Asc

Correct Answer :-

« Functionally complete words / FATCHS &I q‘;U‘f AUec

8) According to Abraham Maslow, is the summit of human motivation.
/ TEH AT F HTUR, ___ ATTd G0 AT qUH1SaT B

1. Safety need / GI&TT CANICEDE TS|

2. Love and belonging need / HEIT{‘UFIT Td Tig I 3ATaeTehdr



3. Need for Self-actualisation / W—ﬁlﬂ:@' CANR ICERIC TS
4. Esteem need / GFHATT T 3TTThdl

Correct Answer :-

« Need for Self-actualisation / W—ﬁ?{% AR GERICTS ||

9) What type of memory processing involves focusing on the superficial
characteristics of an object? / ¥ TSR &Y Fﬂﬁ' YHERIOT H R a&d
T Fag dvar W eue Fga @ anfAa g2

1. Deep level processing / IT@T X T

2. Partial processing / 3TTTRIh G&TEA

3. Elaborative processing / ﬁ??(l}_-f qarereT

4. Shallow level processing / 3Tl TAX AT

Correct Answer :-

. Shallow level processing / 3YelT TAX AT

10) What principle of learning is observed when a child does well in an exam
because he was promised a new phone? / sferere &1 FlT @1 ﬁa}n?r afara
ST § o9 sTar R o # reoT g #ar § #4ifE 3§ e av
WIsT T aTer fHar aam a1?

1. Negative reinforcement / sTehRIcHh qodéldd

2. Negative punishment / sThRTcH GUs

3. Positive punishment / HRTcHs SUS

4, Positive reinforcement / HhRTcHSD go-lofloio-l

Correct Answer :-

. Positive reinforcement / HhRTcHD :I)o-léﬂo-l

11) What is the unit of heredity? / HTIafwar 1 FHS FIT 52

1. Zygote | JIHATS



2. Gene / STl

3. Fertilized cell / f@oa Shifenr
4, Chromosome /@ﬂﬁ@n

Correct Answer :-

. Gene/ ST

12) A child does his chores because he will be rewarded with a chocolate if he
does. What is the term used to describe the chocolate? / T&h §TdT 3Tl HIH
AT § FIF IR g HIAT ¢ af 3@ dlhole ¥ REHpd fhar Sream|
gidolc FT quld Flal & T Fa oasg &1 39A0T HFar amar g2

1. Operant conditioner / ﬁ?amg 3-1333'%
2. Punishing stimulus / &Y 3?.'@'%5

3. Reinforcer / 9deleh

4. Neutral stimulus / JCELT 3¢c19h

Correct Answer :-

. Reinforcer / Ydeleh

13) Trail and error method was put forth by: / ¥eel 4T If¢ A goeh
garr yfaarfea #r 71$:

1. Thorndike / ATI8TSH

2. Kohler / hIgoll
3. Piaget / T

4. Pavlov / 9Tdelld

Correct Answer :-

. Thorndike / TS

14) A student who completes tasks to earn marks is motivated by:/ T ST S

3% Hfola & F AT v g0 Far ¥, 98 399 IR @ ¥



1. Knowing needs/ 3Ta2IhdI31 &l SATeTaAT
2. Intrinsic factors/ 3TcReh HRP

3. Extrinsic factors/ EI'I—E-'»ﬁ h{h

4. Mastery goals/ #gRd & T

Correct Answer :-

. Extrinsic factors/ STgY eh

15) Through classical conditioning, a neutral stimulus becomes a/an A
Rrufafsa wrqsee (Farf@we Fufam) & aeas @, vw sl
SEdH T oo ST §

1. Unconditioned Response / Hﬂﬂﬁjﬁlﬁ 1A ToRar

pel
o

2. Unconditioned stimulus / 3Telelehiold 3ccldh

XN ~

o o

3. Conditioned stimulus / HTeJehell 3carden

4. Conditioned Response / W H@WT

Correct Answer :-

16) A continuous loud noise is avoided by closing the door. This is an example

of ./ AT BT 9¢ F& TINAR T Irell AT TaTar & &9T ST &)
qE $T TS 3STEI0T ¢

1. Negative reinforcement / sThRTcHh Lio-lcflolo-l

2. Negative punishment / JhRTcHh GUS

3. Positive punishment / ShRIcHb gUS

4, Positive reinforcement / ShRTIcHD 'jo-lscloic-l

Correct Answer :-

. Negative reinforcement / sThRTcHh LIoo-hsclolo-l



During middle childhood, when faced with failure, what meaning would
children attach to their experience? / AT TUUT & ERTeT, IT FAHAAT BT
HIHAT FIAT UST 8, dl T YA [T @ FAT FASAN?

1. Shying away from activities in which they are likely to succeed. / Gl THY
afafafeat @ oy Ed ¢ TSiete 3T Aol Blel T HATI=T &l

2. Conclude that trying new things is better. / Ig fa2ad &Y ok s rar fr
ALY FAT d9gaX &

3. Conclude that failure is an indication of their incompetence, not a condition that
can be modified by learning or practicing. / Ig fo~hy Seprerer fh 3werar
3AFT H&THCT FI Hohd g, T ol Fufa § 58 Af0erH e o
HEATH H q AT FEr har 31 Fehr B

4. Frustration and becoming more pessimistic about their abilities. / sﬁr 3R 39ET

STACTAT & Hay H ¥ HermaK & Sid gl

Correct Answer :-

« Conclude that failure is an indication of their incompetence, not a condition that
can be modified by learning or practicing. / Jdg fo~ay Sepraer fF 3wear
3eTehl 3&THAT T Hehdl &, o T Ul [&ufa § o/ 3 & a
AT A H HAT F@r T ST FehTl Bl

18) Several tissues coordinate to give rise to a system. This is known as ./
$$ FdP, T YUl A SeH &of & AT FH=aT S &1 39 q
# =T ST B

1. Continuity / Taxdr

2. Integration / ThIhIOT

3. Specificity / faQrsdr
4. Differentiation / Ta®iesT

Correct Answer :-

. Integration / TehIahoT

19) Which theory integrates principles explored by chaos, network, and
complexity and self-organisation theories? / l-HT ﬁ'afll'l?-l' ST, stedsh



3R SIfeerar va rer-weres Rqual garT @ier v i@l F vhd
T 87

1. Cognitivism / HaTeIlcH®
2. Connectivism / GAISTdTG,
3. Behaviourism / cddgdlq
4. Humanism / ATAddldIq

Correct Answer :-

. Connectivism / GATSTeTdIg

20) Which of the following is not a teaching skill in inclusive education? /

farafaf@a & @ sl gamaht R 7 v Ragor Fherer 736 82
1. Formative / T@&TOTcHS

2. Achievement / 3Tclfe¥T

3. Summative / JN3McHb

4. Performance / 9&gTeT

Correct Answer :-

. Formative / fQATOIcHS

21) Which of the following types of parenting is least likely to benefit a child’s

development? / fA&ifaf@a H ¥ 5T Y9R & Ira-9190T § T2 F
e & a7 g A FHTEAT FEH FA 2

1. Permissive / 34@141?\3?

2. Uninvolved / 3HSEY (aellcAs & & & 3T §3M)
3. Authoritarian / TATATGT

4. Authoritative / 3TTTOHIRS

Correct Answer :-

+ Uninvolved / 3EECY (HIG=AlcA® & & o 3T §3M)



22) Which of the following steps should be taken in order to develop creativity

in students? / BT A [WATCHS AT FHAT FA & T Aafaf@a & @
FiT T FSH 3IST AT TA1RT?

1. The teacher has to give freedom to respond. / f1&7& T gfafehar ¢ & fow
TadAdT Sl AR

2. The teacher should deliver lectures on the importance of creativity. / f2réTe @I
ITATCHS AT o Hgcd U SITEAT Sall dligU|

3. Students should be given opportunities to ask questions. / STdl I YT CI(\TW
& T 3rae garr =nfgul

4. Teacher himself should be creative. / {87 &I TaT T TATcHS glel

TRT|

Correct Answer :-

. The teacher has to give freedom to respond. / f1&T& T gfafehar ¢ & forw
= CECIN-CINC Y

23) Which is the final stage of Piaget’s theory of cognitive development? /

e & FaeenAs Remm & Rgua f sifad serar s @
1. Formal operation stage / 3i1qaTikeh Tfehar 31aedr

2. Pre-operational stage / ‘{r\a‘r-mm 3aEAT

3. Concrete operation stage / Fl(\?-‘f afepar 3raear

4. Sensorimotor stage / Tdqr 9T 3raTAT

Correct Answer :-

- Formal operation stage / 3{TqaTRe @fehar raear

24) Different parts of the body have / R & R %T\‘I’I' H Eﬂ?IT %’:
1. Sporadic development / %Eg? fara a1 Fér-Far faer

2. Uniform development / AT fasra

3. Different rate of development / fdhra & faffiest X

4. No development / PS5 TGhT A&



Correct Answer :-

. Different rate of development / fd&@ & faffieeT X

25) If 20 dots are put along a straight line or curve, we see them together ignoring the
gap between them. This follows which of Gestalt’s principle of perceptual organization? /

gl 20 fig Pl U AR Tap @& AY-ATY I ATCT 3 3R 0 I7P a1 & SR
DI AFTET Y THATY ST 3 | TT NTee & ATURUITHSD 6+ & e Rigia &1
STERUT T 82

1. Law of continuity / TEaXdr &1 e
2. Law of proximity / f[erear &1 faae
3. Law of closure / §aYOT &l T IH

4. Law of similarity / T€IdT &l fa T

Correct Answer :-

. Law of continuity / Taa<ar & faae

26) Teachers need to the needs of diverse group of student. / Rrersl #l sl &
fafay g o smazaearsii &1 DI JTaTIHaT 3

1. Take care of / €TeT T@aT
2. Orchestrate / ASTAT Fallet
3. Handle / 83T et

4. Deal with / HHSIAT Hlat

Correct Answer :-

. Orchestrate / ITSTaAT Saodlor

27) According to Jean Piaget, the process which involves changing our

existing schemas in the light of new information is known as ./ S
e & SER, 98 ufthar forad A8 IM®RI & USRI § §HR HISGl W T
DI SGTAT WA & & U H ST a1 g

1. Equilibration / 9TFT

2. Assimilation / ATcHIATINIU]



3. Organization/ HITSeT
4. Accommodation / 3TdIH

Correct Answer :-

« Accommodation / ATdIH

28) Which of the following is most crucial for children to learn to live in a

society?/mﬁﬁaﬁq aa‘raﬁwwﬁwﬁ%%q%ﬁ'@ﬁﬁ
e Hgayyf 82

1. To work on individual tasks / IfFaera It I 1A LT
2. To work collaboratively / TgITIT & T el

3. To work for rewards /W?ﬁ'@mm

4. To work in isolation / TehTd H ShTH el

Correct Answer :-

. To work collaboratively / T & ST il

29) Which of the following can help the child to overcome failure in school? /
fFrafafeaa 4 3 S19-91 9= ! faearag o srrwear $f R &3 | Heg IR
bl 82

1. Asking them to Focus on next assessment / 3@ 31Tl i IR & digd B
DI Dl

2. Motivating and encouraging them to emphasize on efforts over ability / &HdI 3|

31f¥es Tl R SR 1 & fol I8 URd =T 3R UieaTied &l
3. Giving them some free time for leisure / B% 3R & ﬁl’Q PS Qe gag AT
4. Changing their section/Class / REr STJHIT/hET CAKS AN

Correct Answer :-

« Motivating and encouraging them to emphasize on efforts over ability / &HdI 3|

31 T IR OIR ¢ & forw I8 URd AT 3R Weifad o

30) 'My test results show that | have an interest for sports but | do not have
stamina to play’; which of the following tests describes the above statement?/



W qfieror RomT AR F F A A A s T AT M aw e F
forT ggaafaa a8 & R=Rf@a & @ sl a1 eI sRiTT FAT F1
guie HaT &7

1. Aptitude Test/ 3-1'@7{% qT&ToT

2. Skill test/ ShiRrel GT&TOT

3. Achievement test/ 3TcITed] TT&TUT
4. Intelligence Test/ E;I,aﬁf qT&ToT

Correct Answer :-

. Aptitude Test/ﬂ@qﬁr qT&ToT

Topic:- General English(L1GE)

1) Fillin the blank with the correct option from those given below:
Any econom-- will agree that entrepreneurs are crucial to the develop-- of every branch of industry.

1. --ist ... -ment

2. --iC ... —-ing
3. -y ..-ing
4, --ical ... --mental

Correct Answer :-

e —jst..--ment

2) Read the passage carefully and answer the question given below:

As we celebrate International Women's Day and the progress made in achieving women's rights everywhere, we should not lose
sight of the fact that widespread discrimination against women persists in law and practice, directly or indirectly, all over the
world.

Public outcry and headlines tend to concentrate on egregious cases of female genital mutilation, punishment of rape victims,
sexual slavery, and degrading treatment of all sorts. But it is the “low intensity” discrimination, often sanctioned by law, that
condemns millions of women to daily hardship and suffering. Beyond sparse and mainly ritual condemnations, such pervasive
conditions continue to fly below the international radar.

A recent study, commissioned by the U.N., underscores that this occurs despite the fact that the rights of women to equality and
non-discrimination are enshrined in a number of international instruments, including the Universal Declaration of Human Rights,
the U.N. Charter and, most extensively, in the Convention on the Elimination of All Forms of Discrimination against Women.

According to the writer, which one of the following is a conspicuously bad sign of discrimination against women?



1. All of the above
2. Genital mutilation only
3. Sexual slavery only

4. Punishment of rape victims only

Correct Answer :-

e All of the above

3) Read the passage carefully and answer the question given below:

As we celebrate International Women's Day and the progress made in achieving women's rights everywhere, we should not lose
sight of the fact that widespread discrimination against women persists in law and practice, directly or indirectly, all over the
world.

Public outcry and headlines tend to concentrate on egregious cases of female genital mutilation, punishment of rape victims,
sexual slavery, and degrading treatment of all sorts. But it is the “low intensity” discrimination, often sanctioned by law, that
condemns millions of women to daily hardship and suffering. Beyond sparse and mainly ritual condemnations, such pervasive
conditions continue to fly below the international radar.

A recent study, commissioned by the U.N., underscores that this occurs despite the fact that the rights of women to equality and
non-discrimination are enshrined in a number of international instruments, including the Universal Declaration of Human Rights,
the U.N. Charter and, most extensively, in the Convention on the Elimination of All Forms of Discrimination against Women.

According to the writer, which crimes don't hit the headlines?
1. All of the above

2. Sexual slavery

3. Everyday drudgery and oppression

4. Female genital mutilation

Correct Answer :-

* Everyday drudgery and oppression

4) Read the passage carefully and answer the question given below:

As we celebrate International Women's Day and the progress made in achieving women's rights everywhere, we should not lose
sight of the fact that widespread discrimination against women persists in law and practice, directly or indirectly, all over the
world.

Public outery and headlines tend to concentrate on egregious cases of female genital mutilation, punishment of rape victims,
sexual slavery, and degrading treatment of all sorts. But it is the “low intensity” discrimination, often sanctioned by law, that
condemns millions of women to daily hardship and suffering. Beyond sparse and mainly ritual condemnations, such pervasive
conditions continue to fly below the international radar.

A recent study, commissioned by the U.N., underscores that this occurs despite the fact that the rights of women to equality and
non-discrimination are enshrined in a number of international instruments, including the Universal Declaration of Human Rights,
the U.N. Charter and, most extensively, in the Convention on the Elimination of All Forms of Discrimination against Women.



What is the main idea of the passage?

1. International Women's Day

2. The universal Declaration of Human Rights
3. The universal discrimination against women

4. A study on the rights of women

Correct Answer :-

® The universal discrimination against women

5) Read the passage carefully and answer the question given below:

With less than one per cent of the Gross Domestic Product (GDP) invested in public healthcare provision, India is currently one of
the world's most privatized health economies.

India is a country which is home to one-fifth of the world's diseases, where the regular level of malnourished children is higher
than that of sub-Saharan Africa, and with higher rates of anemia and maternal under nourishment. The buzzwords inscribed into
current government policy, including the Eleventh Five Year Plan, are Public Private Partnerships (PPPs) - contracting out,
franchising, voucher schemes, and subsidies.

However, even proponents of PPPs in more developed states are suspicious of their application in emerging economies, where
there are high proportions of people living on or below the poverty line who have never experienced healthcare as a contractual,
democratic right.

Solid investment, motivated and well-paid staff, established and integrated audit and regulatory systems, excellent political
communications, citizens who expect well-performing public services - without these as a starting point, can marketisation
realistically be expected to create equitable and sustainable delivery of essential services like healthcare?

What is the main thrust of government policies for health care for the people?
1. Involving developed countries

2. Well trained staff

3. Public hospitals

4. Public-private partnership

Correct Answer :-

® Public-private partnership

6) Read the passage carefully and answer the question given below:

With less than one per cent of the Gross Domestic Product (GDP) invested in public healthcare provision, India is currently one of
the world's most privatized health economies.

India is a country which is home to one-fifth of the world's diseases, where the regular level of malnourished children is higher
than that of sub-Saharan Africa, and with higher rates of anemia and maternal under nourishment. The buzzwords inscribed into
current government policy, including the Eleventh Five Year Plan, are Public Private Partnerships (PPPs) - contracting out,
franchising, voucher schemes, and subsidies.



However, even proponents of PPPs in more developed states are suspicious of their application in emerging economies, where
there are high proportions of people living on or below the poverty line who have never experienced healthcare as a contractual,
democratic right.

Solid investment, motivated and well-paid staff, established and integrated audit and regulatory systems, excellent political
communications, citizens who expect well-performing public services - without these as a starting point, can marketisation
realistically be expected to create equitable and sustainable delivery of essential services like healthcare?

What is the main idea of the passage?
1. The prevalent diseases in India

2. Delivering healthcare to the people
3. Concerns about public health

4. A study on poverty and health

Correct Answer :-

® Delivering healthcare to the people

7) Read the passage carefully and answer the question given below:

With less than one per cent of the Gross Domestic Product (GDP) invested in public healthcare provision, India is currently one of
the world's most privatized health economies.

India is a country which is home to one-fifth of the world's diseases, where the regular level of malnourished children is higher
than that of sub-Saharan Africa, and with higher rates of anemia and maternal under nourishment. The buzzwords inscribed into
current government policy, including the Eleventh Five Year Plan, are Public Private Partnerships (PPPs) - contracting out,
franchising, voucher schemes, and subsidies.

However, even proponents of PPPs in more developed states are suspicious of their application in emerging economies, where
there are high proportions of people living on or below the poverty line who have never experienced healthcare as a contractual,
democratic right.

Solid investment, motivated and well-paid staff, established and integrated audit and regulatory systems, excellent political
communications, citizens who expect well-performing public services - without these as a starting point, can marketisation
realistically be expected to create equitable and sustainable delivery of essential services like healthcare?

In the passage, which of the following issues has not been addressed by the writer?
1. Economic status of a country

2. Literacy rate

3. Medic and paramedic staff

4. Population growth

Correct Answer :-

e Literacy rate



8) Read the passage carefully and answer the question given below:

With less than one per cent of the Gross Domestic Product (GDP) invested in public healthcare provision, India is currently one of
the world's most privatized health economies.

India is a country which is home to one-fifth of the world's diseases, where the regular level of malnourished children is higher
than that of sub-Saharan Africa, and with higher rates of anemia and maternal under nourishment. The buzzwords inscribed into
current government policy, including the Eleventh Five Year Plan, are Public Private Partnerships (PPPs) - contracting out,
franchising, voucher schemes, and subsidies.

However, even proponents of PPPs in more developed states are suspicious of their application in emerging economies, where
there are high proportions of people living on or below the poverty line who have never experienced healthcare as a contractual,
democratic right.

Solid investment, motivated and well-paid staff, established and integrated audit and regulatory systems, excellent political
communications, citizens who expect well-performing public services - without these as a starting point, can marketisation
realistically be expected to create equitable and sustainable delivery of essential services like healthcare?

According to the passage, what are the pre-requisites for effective health care in the private
sector?

1. High investment, a motivated and well paid staff, and good regulations
2. Better preventive health
3. Empowerment of village hospitals

4. Foreign involvement

Correct Answer :-

® High investment, a motivated and well paid staff, and good regulations

9) Read the passage carefully and answer the question given below:

As we celebrate International Women's Day and the progress made in achieving women's
rights everywhere, we should not lose sight of the fact that widespread discrimination
against women persists in law and practice, directly or indirectly, all over the world.

Public outcry and headlines tend to concentrate on egregious cases of female genital
mutilation, punishment of rape victims, sexual slavery, and degrading treatment of all sorts.
But it is the “low intensity” discrimination, often sanctioned by law, that condemns millions
of women to daily hardship and suffering. Beyond sparse and mainly ritual condemnations,
such pervasive conditions continue to fly below the international radar.

A recent study, commissioned by the U.N., underscores that this occurs despite the fact that
the rights of women to equality and non-discrimination are enshrined in a number of
international instruments, including the Universal Declaration of Human Rights, the U.N.
Charter and, most extensively, in the Convention on the Elimination of All Forms of
Discrimination against Women.

In the passage to fly below the international radar means:



1. An issue that catches public attention
2. An issue dealt at the international level
3. Something that fails to be noticed or is ignored

4, Something that is discussed on a national platform

Correct Answer :-

« Something that fails to be noticed or is ignored

Rewrite the following changing the active sentence to passive.
Let her take the camera.

1. Take her to the camera.
2. The camera needs to be taken by her.
3. She has to take the camera.

4. Let the camera be taken by her.

Correct Answer :-
« Let the camera be taken by her.

11) Read the sentence carefully and choose the option that has an error in it:

The stranger gave us much informations.
1. No error

2. much informations.

3. gave us

4, The stranger

Correct Answer :-

* No error

12) Fill in the blank with the correct option in the given sentence:
A note added to a completed letter is a --script.

1. post --

2. sub --

3. pre --



4. super --

Correct Answer :-

13) Choose the right tag:

You can solve this question, ?
1. can you not

2. didn't you

3. did you not

4. can't you

Correct Answer :-

e can't you

14) Choose the option that substitutes the given phrase appropriately.
A person who has a sophisticated charm

1. Debonair

2. Witty

3. Petite

4, Beau

Correct Answer :-

» Debonair

15) Change the given sentence into Indirect Speech:
He said to me, ‘How old are you?’

1. He asked me how old I was.

2. He asked me how old you are.

3. He said to me how old are you?

4, He said to me how old am 1?

Correct Answer :-

e He asked me how old I was.



16) Choose the appropriate prepositions for the given sentence:

Results a new clinical trial has shown a new radiotherapy technique can treat cancer
patients just five sessions instead of the typical 37.

1l.in...in
2. of ...on
3. from ...in

4, for...on

Correct Answer :-
e from ...in

17) Choose the appropriate antonym for the highlighted word in the given sentence.

Inventors often prefer to work in isolation.
1. solitude

2. confinement

3. group

4. liveliness

Correct Answer :-

e group

18) Choose the appropriate conjunctions for the given sentence.
theball____ the bat belongs to me.

1. whether ... or

2. rather ... than

3. neither ... nor

4, as ... as

Correct Answer :-

¢ neither ... nor

19) Choose the appropriate option that rewrites the given sentence in its passive voice.

One must confront such problems.



1. Confrontations of such problems must be one.
2. Such problems must be confronted.
3. Such problem must be in confrontation.

4. Such problem must be confronted by one.

Correct Answer :-

e Such problems must be confronted.

20) Choose the appropriate tense to fill in the blanks in the given sentence:

I up at 6am every morning and for a walk.

1. get, went
2. get, go
3. got, goes

4. got, went

Correct Answer :-

21) Choose the appropriate tense to fill in the blank in the given sentence:

The summer holidays are over and all schools
1. have reopen

2. have reopened

3. has reopened

4. had reopened

Correct Answer :-
« have reopened

22) Choose the appropriate synonym for the highlighted word in the given sentence.

My uncle, who is a park ranger, is well trained to handle a wide variety of emergencies.
1. fire fighter
2. owner of parks

3. police patroller in parks



4. keeper of parks

Correct Answer :-

» keeper of parks

23) Choose appropriate article for the given sentence:
_____Ganges is the most fertile river

1. An

2. A

3. The

4. No article

Correct Answer :-
e The
24) Choose appropriate articles for the given sentence:

In 1929, Fleming wrote __ report of his laboratory experiments, presented it at ___ medical meeting,
and had it printed in ___ medical journals

1. no article required ... the ... a
2.4a..a..no article required
3. the ... a ...no article required

4, the ... the ... the

Correct Answer :-

* a..a..no article required

25) Choose an appropriate determiners for the given sentence.
They had so success with so effort.

1. little, little

2. many, few

3. much, little

4, few, much

Correct Answer :-

e much, little



26) Choose an appropriate modal for the given sentence:

When I was a child, I spend hours together playing with my toys.

1. should
2. will
3. can

4, would

Correct Answer :-

» would

27) Choose the most suitable pronoun for the given sentence:

I went shopping for clothes yesterday, but I couldn’t find that I liked.
1. nothing

2. something

3. everything

4. anything

Correct Answer :-

28) Choose the option that best explains the highlighted expression:
She was thrilled to bits when I told her that she was offered the job.
1. very much tensed

2. very much annoyed

3. extremely pleased

4. broken to pieces

Correct Answer :-

* extremely pleased

29) Choose the right tag:

Mihika doesn't like to play cricket, ?



1. does she
2. doesn’t she
3. didn’t she

4, did she

Correct Answer :-

e does she

30) Which of the following options best combines the given sentences?

This is a huge unit. It employs 900 workers.

1. This is not only a huge unit but also it employs 900 workers.
2. This is a huge unit so only it employs 900 workers.

3. This is such a huge unit that it employs 900 workers.

4. Being a huge unit, it that it employs 900 workers.

Correct Answer :-

« This is such a huge unit that it employs 900 workers.
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Topic:- Science (SCI)

1) A creative teaching method to introduce kids to the world of science with fun, like basics of
astronomy, biology, physics, earth science, etc. is:

[FARST F Ay fae 1 gfaar F =at FY g3 FS f vE E@areas R
fafer, s & @aer R, s R, silfadhy, gt R anfe, et @

1. Science Exhibitions / fa=IeT weifaar
2. Science Games / faaiTeT @

3. Science Fairs / fa=iTeT el

4. Science Songs / faaeT 3T

Correct Answer :-

« Science Songs / faaeT M

2) Who gave the model of “Cone of Experience”? /
"I G TFHNRIE" FT Alsa fFaa &am ar
1. Burton / §ceT

2. James S. Kinder / &0 ©H. f&HsT

3. Edgar Dale / USIR 3ol

4. Carter V. Good / ST Y. L]

Correct Answer :-

« Edgar Dale / TSI 36T



3) Developmental Psychology is studied by other scientists, Except for:/

faFraTers AT v 1 sisat 3w dafas! qarT sreawsr fFar e &
1. Anthropologists / FTAd AAG (TUANATTEE)

2. Biologists/ Si@ AT (STATTToIET)

3. Physicians / #ifas faamer (o)

4. Physicists / #ilfde faq (Thiafaaee)

Correct Answer :-

. Physicists / #ifde fag (RafaTEe)

4) What is one method of transferring information from short term to long term memory? /

qg-Freller § EF-Frelier Tfa # Gaa FAAART F A wF @AY T
1. Rehearsal / qt\T:ISFS-'qW

2. Decaying / 9cel

3. Delaying / faeradr

4. Chunking / =fehar

Correct Answer :-

« Rehearsal / q@‘r&‘am

5) What is the smallest unit of speech known as? /
$TUT Y FaX B SHE HY FAT Hgl AT 82

1. Morpheme / & (HTHf)

2. Word / 2sg; (T3)

3. Syntax / drFg-Td=arg (RAcaa)

4. Phoneme / TafAH (ThleTed)

Correct Answer :-

« Phoneme / ¥afAH (PITF4H)

6) Permanent hardness of water is due to: /

ST 1 TIRN FORAT FT HRT ¢



1.CaCO4
2. Mg(NO3 )2
3. MgCl,

4, N82C03

Correct Answer :-

. MgCI2

7) Three forces 20N, 30N and 50N are acting on a body placed on the
horizontal plane. Here, the 20N and 50N are acting towards left and 30N is
acting in the opposite direction. Now the resultant force acting on the body
is: /

TF &fasr AT W @ TF A& 97 20N, 30N 3R 50N & i o oera &1 20
N 31X 50 N, aT¢ 31X o9 & 3t 30 N Radia Rem & o &1 e W a@e arer
qfRorY g fraar &7

1. 40N towards right / g7 31X 40 N

2. 40N towards left / sTT 31X 40 N

3.40N in the downward direction / = &T 31X 40 N
4. 100N towards left / sTT 37X 100 N

Correct Answer :-

« 40N towards left / §TT 33X 40 N

8) Ultra microscope is set up based on which property of colloids. /
3oL ATHIERT Flarss & fFE 0T F 3MUR W Faia B = g

1. Brownian movement / s3faaer aifa

2. Tyndall effect / f&ser woTa

3. Electrophoresis / degdehoT Hell
4, Coagulation / STHTG

Correct Answer :-

. Tyndall effect / i&seT 9T

9) is not an organic acid. /



__ U® yFMEfaE IJFEA A g
1. Oxalic acid / 3Neafeled 3Far

2. Acetic acid / tfafes 3rFar

3. Formic acid / ®iffie 3

4. Carbonic acid / Frafae 315

Correct Answer :-

« Carbonic acid / Fefas 31Fd

10) is the only mode of heat transfer which doesn’t require a
material medium. /

THAT FSAT TAAGROT HT adiet § forad amaft aAreasr & sraeasar 78t
gl 8
1. Convection / Hdge
2. Heat pumping / FSAT gfFqer
3. Conduction / dTelel
4. Radiation / fafeor

Correct Answer :-

. Radiation / faferor

11) |f the amplitude of vibration is increased to three times of its initial value,
then the loudness of sound will: /

IR F9T F HAH N $/F IRAF Fqed F AT o aF q91 AT Swer 7, @ eafA
$T gyaodr g

1. be doubled / @ [T

2. be six times of its original value / 30 ARfd® A &I ST :

3. become three times of its original value / 30 dRdfdd A BT A AT
4. become nine times of its original value/ 39 aRdfd® A &1 el RIGII

Correct Answer :-

- become nine times of its original value/ 310 ARdfd® A &1 Al AT

12) |n an electrical cell , the energy is stored as:



F fgga a4 #, FoT F 39 ¥ H FAda fFar smar @
1. Charges / 3mmaeit

2. Heat energy / AT Fair
3. Chemical energy / Taafas Far

4.Nuclear energy / 9XHTI] Zail

Correct Answer :-

« Chemical energy / T@AASH Foll
13) Select the statement which is not true: /
3T FUT &1 IIT FI AT G @l &

1. Sound travels faster in metal than in air. / €afal, arg T Q& a1 & dsft &
AT FAT B

2. Sound can be easily propagated through vacuum. /
et & Areyd § eafe AN ¥ ga@Rd & STy g

3.Sound can be produced by the vibrating air column. / €afel, &9l gar TdH
GaRT 3cuifad fRaT ST &haT gl

4. Sound can be propagated through any medium. / T3t ot A1eow & &af= st @
TR P ol Tohal g

Correct Answer :-
« Sound can be easily propagated through vacuum. /

fAaTa & #aregs @ eafa 3maet ¥ y@Ra & 31 gaar gl
14) Select the pair of forces which are non-contact force: /
3 gl & FIA F TIF F, A HERY (AlA-Flecde) o ¢
1. Magnetic force and electrostatic force / Yaehg ol 3R TR degd oo
2. Muscular force and magnetic force / 9=l ST 3 IahrT ool
3. Muscular force and frictional force / 9eff §ef 3R o¥UT §a
4. Electrostatic force and frictional force /R degd aef 3R a¥or aof

Correct Answer :-

« Magnetic force and electrostatic force / Iaehd def 3R EUR deg o



15) In which one of the following cases will Common salt dissolve in water
most readily? /

frafaf@a # ¥ e RUfa & 9Ror a7F 9 & 9@ @oar € [ReRa @
STTI?

1. 10gm of Ice at 09C / 00 AfeTIE W 10 I %

2.10 ml of water at 900C / 900 afeagw ux 10 fAMNNE e

3.10 ml of water at room temperature / THAT d9ATT W 10 fHelellex o
4.10 ml of Ice cold water / §hfer 33 ST &1 10 Al

Correct Answer :-

. 10 ml of water at 909C / 900 afeaad W 10 AT Il

16) Alternating current is not used in: /
YcTad! 8RT FT 39AET SHA AT fFar Sar
1. Transformers / TrAHIER

2. Electric heaters / faggd amae

3. Electric geysers / facgd afe

4. Electro plating / faegd odsT

Correct Answer :-

« Electro plating / faegd oue

17) The process of conversion of water vapour into liquid is called: /
I AT & gg A TIGOT HT YFHAT Farar ¢

1. Sublimation / Fedurdel

2. Condensation / TesTeT

3. Melting / TeleT

4. Fusion / |fFasor

Correct Answer :-

. Condensation / g«



18) During rainy season the rain water goes deep down into the earth
passing through different layers of soil.

Which one of the following processes does not occur during rain water
seepage into the soil? /

wm*%wﬁmrmmﬁw*ﬁfaﬁrqﬁ#w??ﬁﬁm
A =T SATar B

aifer & qeh & el o REE & G Prefatee F ¥ S @ ufear ad aRa
gl 7

1. Filtration / feredest

2. Sedimentation / 31ddTCA
3. Distillation / 3THdeT

4. Decantation / f&dRoT

Correct Answer :-

- Distillation / 3mdded

19) |dentify the correct set of isotones among the following options. /

ffoad A el & @ garafas & 3™T a4 i gga

1°N and 150

1.

16 18

g0 and 30

2.

40 40

soCa and 15K
3.

1odr and 13K
4,

Correct Answer :-
15 16
2N and *20

20) If ‘F’ is the force, ‘m’ is the mass and ‘v’ is the velocity, the dimensions
of ‘X’ and ‘Y’ on the relation

F = X(mv) / (1 + Y) are respectively /



P IT e mMegAAA IR vV AT E, A F = X(mv) F Faag & X 3k Y &
AT 8-

1. T, T

2. LT, LT?

3. T-1, dimensionless / T-1, 3mam&ESH
4. dimensionless, T / 3R—THA, T

Correct Answer :-

. T-1, dimensionless / T-1, 3mam@geT

21) The commercial unit of energy is expressed in terms of: /
FaT Y aIfofSas sH1$ 5 Ul H gFd i AT §:

1. Nm

2. kKW

3. Joule

4. kWh

Correct Answer :-

« kWh

22) Which of the following surfaces absorbs the least amount of heat energy
when exposed to heat radiation? /

afafaa & ¥ Fia & gag F AT RIFr F TUF F 3 W F7 &7 F5AT FaAT
F ITMNT FIAT 87

1. Surface coated with white paint / @%e U & T Idg

2. Surface coated with red paint / &fel 9¢ & ofUd ddg

3. Surface coated with black paint / &rel Y & Jfdd Idg

4, Surface coated with dark green paint / e & Ue ¥ oifud Idg

Correct Answer :-

. Surface coated with white paint / I%e 9 & oIfdd dds

23) Which of the following statement is true: /



efaf@a & 9 #lq a1 Fua7 97 &

1. Thrust is the force acting normally on a surface. / 819 Ueh Hdg W AT 9
T HIH HlaT ol 91 ol

2. Pressure is directly proportional to the area. / &dd, &9t & Ycdal Iql{cleh
gl

3. As thrust increases pressure decreases. /| SH-o1 &9 §&dl & &a1d & gidl
ST gl

4. Pressure is inversely proportional to force applied. / GaTd, A §d & fqURId 3dTfd®
gl

Correct Answer :-

. Thrust is the force acting normally on a surface. / 819 Ueh Tdg W AT &
q HTH Ha Irell g B

24) Which of the following combinations are most suitable for composite fish
culture? /

faffa aceurea & v fafaf@a & ¥ #la a1 g qa@ s9gFa §?
1. Middle zone feeders and bottom feeders / #ALI ST HIET T dicH HIET
2. Surface feeders only / had Tdg s

3. Surface feeders,middle zone feeders and bottom feeders / ddg CﬁlSQ, " A
18X TG dicH BIax

4. Surface feeders and bottom feeders / Gdg WIS Ud SIcH IS

Correct Answer :-

« Surface feeders,middle zone feeders and bottom feeders / ddg EﬁlSQ, 7Y S
hieX Ud §lcH BIe

25) Which of the following natural phenomena cannot be predicted
accurately? /

frrfaf@a & & frw gefas gear A adF sfasgamft 7@ # a1 F=dt 82
1. Lightning / faTel

2. Thunderstorm / 3fTe-qohret

3. Earthquakes / &9

4. Cyclones / dshdld

Correct Answer :-



- Earthquakes / 3{&h+q

26) Which of the following is not an animal protein? /
fArafaf@a & #1 e Sia e ag 82

1. Wool / 3ef

2. Silk / YerH

3. Milk / )
4. Pulses / aroT

Correct Answer :-

o Pulses / arel

27) Which of the following is not related to sound? /
fAefaf@d & ¥ #ia @1 cafr § w@afa &t 372

1. Frequency / 3mgfa

2. Microphone / HATSHIhI

3. Loud speaker / &l138 T
4. Myopia / AT

Correct Answer :-

« Myopia / &TaifaT

28) Which is not a major advantage of Crop Rotation? /
Prfafla & ¥ a1 B add FT AT a7 g §?
1. Additional use of fertilizers / 3a%ai &1 JfaRed 3T

2. Conservation of soil productivity / #aT 3carcehdT sl TETOT

3. Weed control / EXIdaR fAI701
4. Increased yield / 39T # Fef&r

Correct Answer :-

. Additional use of fertilizers / 3a3aT T JfaRed 3TATeT



29) Choose the incorrect physical property of non-metals. /
T3t F Igiaa sifaw qor F1 awT w

1. Generally they have low density. / THIA: Oddcd & 8T ¢
2. They are not sonorous. / CIEEY :lﬁﬁaﬁ %I

3. They are brittle in nature. / El?ﬁ | HR g gl
4, They have high tensile strength. / 3= d-=Idl &HdI Bﬁ?ﬁ %’I

Correct Answer :-

» They have high tensile strength. / 3= d=Udl &HdI Eﬁ?ﬁ %I

30) Choose the incorrect statement among the following: /
farT # @ IqRa gaded F1 T=FT
1. Potassium is always stored in water. / GI¢fRIIE & gART U= & I@T AT &l

2. Potassium can be cut easily with a knife. / 9RfRIIHA U =y & AN & el
ST FehT B

3. Potassium reacts with dilute acids to produce hydrogen gas. /
gISSIolel I T 3cUlee el & ToU URTAITA o] 3Fe & |y HATHAT e g

4. Potassium when burnt in oxygen forms its oxide. /

JTFEeT H S S W AR FT 3’88 ST gl

Correct Answer :-

. Potassium is always stored in water. / GfRITIH & gARM I F I@T AT &l

31) When a spring is stretched by 2 cm, it stores 100J of energy. If it is
stretched further by 2 cm, then the stored energy will be increased by: /

9 TF FAEN T 2 A g difd fF Far §, 9 6@ 100 FAT AR @ §,
I @ 2 Gt 3k 3RF afoa frar Jrar §, a9 @ada FoT # frael g g

1.400J
2.100J
3. 300J
4.200J

Correct Answer :-



32) Out of the following options, select the correct relation for the electric
power. /

frafaf@a Reedt & @, fAgga ofFa F P a@ Faw F1 =97

= V/R2

=
T
|

= V2R

N
T
|

= |/R?

w
T
|

4.P = IR

Correct Answer :-

. P = V2R

33) An olfactory indicator among the following is: /
far & @i v wor g @

1. Phenolphthalein / $ratasdfere

2. Soap / HIgsT

3. Clove / @ter

4. Turmeric / godl

Correct Answer :-

. Clove / @il

34) The SI unit for measurement of length is: /

waTS B AT & T SI T 2
1. Millimeter / TReNHIET

2. Kilometer / fohelidTex

3. Centimeter / GEHIET

4. Meter / eI

Correct Answer :-

« Meter / eI



35) If a student is able to make predictions in an experiment by making logical
connections using correct evidences, he/she is capable of: /

gfe o1 faedf W) F1eal &1 ITUT B difhe Fay g9Th- [Pt TaNT & qd-@-1 31 o gam
8, 98 A # wam &

1. Drawing conclusions / oSy foepreretr
2. Observation / 37dcllchel

3. Experimentation / TN

4. Providing explanation / SISI®HRUT Ug AT

Correct Answer :-

« Drawing conclusions / fasey faerTerar

36) What is mineral oil? /

@frer a1 1 3?2

1. A mixture of glycolipids / TSRITATAZ T Ueh AT

2. A mixture of hydrocarbons / BTSSIhTSal &l Ueh THAOT

3. A mixture of lipids and minerals / fIf93t 3R @A &1t AsOT

4. A mixture of water and oil / 9TiaiT 31X Al &1 T fAHOT

Correct Answer :-

« A mixture of hydrocarbons / BTSS! T Teh fHSOT

37) Find the time taken by the sound to travel through a distance of 5 km, if its
frequency is 2.5 kHz and the wave length is 20 cm. /

gfe @af ot 3rgfty 2.5 fFdieds § ok aivesd 20 9 8 @ 39 5 frelt ot g F3
=T T @R, [T B2

1.2.5s / 2.5 AH3
2.20s / 20 @&s
3.10s / 10 s
4.15s / 15 APs

Correct Answer :-

- 10s / 10 Q%3



38) Neem leaves and its twigs are used in the production of tooth pastes.

Identify the substance present in them which prevent tooth decay. /

A F ual 3 s cgAAT FT 3UANT SaHIANATE F 3G H FAT F1AT B SHHA
9ol gidl H ST ¥ FI Vel AT dcd T ggaTT HI|

1. Carboxylic acid / STafeFEITeldh 31
2. Alkali / 3Tedhell
3. Mild acid / §onl &l

4. Salts / odoT

Correct Answer :-

o Alkali / 3Toeholl

39) Which one of the following factors will change the magnitude of Equilibrium
constant for the following reaction?

N2(g) + 3H(g) = 2NH3(g) /

m@ﬁﬁﬁmwmﬁm%mwm% gf¥HTor Hi
ged 3?

N2(g) + 3Hz(g) = 2NH3(g)

1. Use of finely powdered Iron catalyst / SRieh ToT oilg 3c9Reh &1 3UATT
2. Decrease in the pressure of Nygy / Np(g) & gaId H FHAT

3. Increase in Temperature of the reaction / 3ifATHAT & YA & Jefar

4. Concentration of Reactants / 31fR&al T digar

Correct Answer :-

« Increase in Temperature of the reaction / 3fRfhAT & dAMUATT H Jefer

40) Which of the following is not a part of the 5E constructivist model of teaching-
learning? /

fFufafaa & @ $19 Rieor-3iftrm & 5 WRraAmEd! uisd &1 e a8 @2
1. Engage / GeldeT (TIISN)

2. Elaborate /fa¥qd ( Tellse)

3. Enhance / 9gaX ( UeAgd)



4. Explain / 90TeT (TFHTolaT)
Correct Answer :-

« Enhance / 9§ ( Teled)

41) Which of the following is not a characteristic of a good textbook? /
Frafafaa & 3 #19 dt e =St urengas 3t faxivar 781 82

1. It may not cover the entire syllabus of one stage. / IJg Teh TIOT & ‘~'-I3' qISTshd i
afFAfed FEr T Fendl! gl

2. It is a finished product for transferring the knowledge. / Ig§ JTeT & §EATRUT & folT T
IR 3eurg |

3. It should not be self-contained. / dg IHAT 7 3cH giFEATId F@' ?I?-ﬁ SNyl
4. It may not be necessarily for a whole year. / T8 T R I¥ & U T T8t 8 Il ]

Correct Answer :-

« Itis a finished product for transferring the knowledge. / Ig el & EAICRUT & ToIT Th
R 391G &

42) Which of the following is an objective for teaching students of higher primary level
(v, VI, VII)? /

3= WY R (V, VI, VII) & Bl & Rieor & o Fafeafaa 7 4 o9 3 3exa g2
1. Development of understanding of laws, concepts and principles /
foraraT, raeRom3it 3R fAcurdr 1 @A st @1 |
2. Development of power of reasoning / % T QUfFd &1 AT |
3. Development of practical outlook / SITAgIRS TISCHIVT &7 k|
4. Development of interest in reading scientific literature / 33T TR Ug | T BT AP I

Correct Answer :-
« Development of power of reasoning / deh &I ATFT FTI |

43) An example of merry-go-round can be used to explain which of the following
scientific concepts to the students? /

AN-M-IGs (FStem) &1 e FAufafad # ¥ $19 A ayfe [ayRun &1 ST &) IHSH &
fore gxawTe fpar S IPar 82

1. Oscillatory motion / glefeT@ilel ITfeY



2. Rotation of Earth / C[%T:ﬁ T EI;Uﬁ?-I'
3. Gravity / Tecd

4, Centripetal force / F—al'fﬂ'ﬂ'@ el

Correct Answer :-

« Centripetal force / W@ﬂ'@' el

44) Clinical thermometer is designed to measure the: /
Acife yuiHieR 3 fFa Ame & e fewms far mar 3:

1. Temperature of the chemicals used in the clinic / Feliflss & T IAI=AT HT
AT AT

2. Temperature outside the clinic/ Felifaies & ST JITIATA
3. Temperature inside the clinic / Felifade & 3iEI dTIHTT
4, Temperature of the human body / HIHd YRR & dgHH

Correct Answer :-

o Temperature of the human body / HIHd YRR &1 dIHH

45) What is the duration of kharif crops? /
THNE Bl 1 i a1 g2
1. June to October / SsT & 3R

2. March to September / ATE ¥ RydeR
3. October to March / 3ageR ¥ A

4. November to April / FdsR ¥ 30

Correct Answer :-

- June to October / S & el

46) An object completes 120 revolutions in 30 seconds along a circular path.
The ratio of its frequency to its period is: /

TS a3 UP URUT UY TR 30 Ghs | 120 TRHHUN P IRT Hdl g1 39 3afy & forg
IS TgfRT BT U &:

1.14



2.1:2
3.16:1
4. 4:1

Correct Answer :-

« 16:1

47) The force acting on the bullet when it moves through the air towards a
target is: /

gde W T 9141 99, 9 §aT I 3F B 3R g¢a1 g d d9&d &

1. Force due to the gun / sigéh & &HRUT ol

2. Gravitational force alone / 3ehel W@T CE

3. Gravitational force and frictional force. / &carehyor el 3R 0T ol

4. Frictional force alone / 3Tehel TYUT &of

Correct Answer :-

« Gravitational force and frictional force. / Wlﬁ'UT g 3T gvur o)

48) Expanding and cooling of hot air results in: /

TH ga1 #1 fawR ok fae= 1 & | feaer ufvomy g1 &:
1. Condensation / TgeleT

2. Vapourisation / arsdi&Ror

3. Hail storm / 3Ny

4, Precipitation / &Y

Correct Answer :-

. Condensation / g

49) The radiations absorbed by ozone are: /
SISl gRT Sra=nfia fafdor 3

1. Ultraviolet rays / WRTSl9T=T foheol

2. Infra red rays / 37a&d fRIoT

3. Gamma rays / IMHAT fRI0T



4. X-rays / TaH-Y
Correct Answer :-

- Ultraviolet rays / GRrdaredT fohior

50) A bus is moving with a speed of 72 km/h, convert its speed into m/s: /
T 99 72 fortil/ et ot nfa & 7 &6 8, s9! nfa & {3 § ufvafda #3:
1.10m/s / 10 #/&

2.720m/s | 72 #/&

3.30m/s / 30 #H/&

4.20m/s / 20 /&

Correct Answer :-

« 20m/s / 20 #/&

51) A teacher explains that during experiments, one can verify results using more than one
method. This shows an understanding of which attribute of scientific temper? /

S et cgrEar & & F e & ke, v @ s R_feaY &1 saaer s
IROUMAT F Tcafid fFar ST T 1 s8R dafas Tadg A i d@ [Fdwar &1
aer gxar &2

1. Critical thinking / 9TgsT Ride

2. Open-mindedness / Tgureirerdr

3. Respect for evidence / 918 & T gFaT
4. Logical thinking / dTfher TRIdeT

Correct Answer :-

« Critical thinking / 3TgeT fdideT

52) For a person suffering from hypermetropia, the image of the object is
formed: /

e Iv J Nifsa v aafd & forg avg &1 ufafda Sar a9« 8:
1. Behind the retina / IfeaT & Iy

2. In front of the retina / XfeaT & A

3.0n the retina / YfeaT



4.0n the eye lens / a7 o W

Correct Answer :-

. Behind the retina / Yfear & 9

53) Glucose drip is usually given to a physically weak patient because: /
TP fST MR IR IRIN® U | FHR 7R & fear sirar 8 Fife:

1. He is not drinking enough water. / dg 9aTcd STel &l Ot I@T 8T gl

2. Dehydration can be prevented. / 38X ASTelleUT FI AT ST e &l

3. It readily gets absorbed for energy. / T8 TRAT ¥ Soll & foTT AN 8 ST & |

4. He gets a balanced diet. / 98 $I9 Idferd 3ER UMl |

Correct Answer :-

. It readily gets absorbed for energy. / dg IRddl J Sl & forg ra=nfid g Srar B

54) If the angle of incidence in the first medium is equal to the angle of
refraction in the second medium, then the absolute refractive index of the
medium is: /

gfe ugd ATeay | SMufad HIvT goR W1 H 3Uae & P S JHM g, df 71T BT
quf SUad® GaHi® &

1.1.33
2. 1.1
3.1.0
4.1.5

Correct Answer :-

+ 1.0

55) Which one of the substances mentioned below is not responsible for the
depletion of ozone layer? /

2 AT 1T verdf # @ S A1 ST IRa F 3@ F g Saverdt 78 o2
1. Carbon tetra chloride / FIea1 CCFARISS

2. Ammonia / AT

3. Aerosols / Qﬁ@ﬁ



4. Chlorofluoro carbons / FARITISIRITE

Correct Answer :-

« Ammonia / 3=

56) Which one of the organisms mentioned below is a herbivore ?/
i afofa sital & @ o9 U@ IHRR 772

1. Shark / 2T

2. Peacock / AR

3. Frog / ﬁaa?

4. Mouse / gl

Correct Answer :-

» Mouse / JgI

57) Gallinaceous domsticated fowl,bred and raised specifically for meat
production is: /

TePpape-gad uraq uelt, 7% ot Ay ¥ u d 9 Iwre & fore urelt << 8:
1. Rhode Island / 33 3Sais
2. Turkey / 9% g&fr

3. Broilers / siigeR

4. Ducks / sd@

Correct Answer :-

. Broilers / §igeR

58) Unambiguous instructions are always required for: /

AF T & foT g Tuse A 3T+ g &

1. Long Answer type questions / &I 3T 9T

2. Supply type objective questions / 3TcTe¥] (3-1Tctl'\ﬁ) JhR d(—gif;lbo IR

N

3. Selection type objective questions / TIeT FhR o TEATISS U

S

4. Short Answer type questions / oTg 38T g9



Correct Answer :-

« Selection type objective questions / TIeT b & JEJEASS TRt

59) Fishes live in water. It is their natural Use the right biological term.
/

#ofadl, aelt & @ §1 I8 39 wpfaw ¥ 3ugwd s e w1 ogAhr
C 2y

1. Home / &Y

2. Habitat / 3mar&a

3. Environment / ardrayor

4. living space / g« &l TUTT

Correct Answer :-

- Habitat / 3marg

60) Which of the following topics clearly demonstrates the interdisciplinary
nature of science? / A=RAf@T # ¥ 9 @1 AT Toe T F [AaIATE AN
e fawas yHfa #r gerar 82

1. Colloids / PSS

2. Evolution / 3¢HT

3. Programming / ShATGRNT (M)
4. Astronomy / @3Nel faem

Correct Answer :-

« Astronomy / GdMel ﬁ?‘:ZIT



